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DIRECTIONS: 
In each sentence below four words that the printed in 
bold have been lettered (1), (2), (3), (4) and (5). One 
of them may be wrongly spelt or inappropriate in the 
context of the sentence. Find out the word, which is 
wrongly  spelt  or  inappropriate  if  there  is  any.  The 
letter of that word is the answer. 
If all the  words,  which  are printed in bold , are 
correctly spelt and appropriate in the context of the 
sentence, mark (5) as the answer i.e. All correct. 
 
1) Today, thank 1)/ to our support 2)/ she has managed 
3)/ to purchase 4)/ her own house. All correct 5)/ 
a) Today, thank 
b) to our support 
c) she has managed 
d) to purchase 
e) her own house. All correct 
 
2) The environment has a pro found e 1)/ inf luence 2)/ 
on the way a Soc iety 3)/ develops 4)/ All correct 5)/ 
a) The environment has a pro found e 
b) inf luence 
c) on the way a Soc iety 
d) develops 
e) All correct 
 
3)  Today  banks offer 1)/ the  facility 2)/ of  instint 3)/ 
transfer 4)/ of funds to their customers. All correct 5)/ 
a) Today banks offer 
b) the facility 
c) of instint 
d) transfer 
e) of funds to their customers. All correct 
 
4) A large number of celebrities 1)/ have joined an NGO 
involved  2)/  in  the  movement  for  protection  3)/  of 
animal writes 4)/ All correct 5)/ 
a) A large number of celebrities 
b) have joined an NGO involved 
c) in the movement for protection 
d) of animal writes 

e) All correct 
 
5)  You should delay 1)/ your plan to acquier 2)/ that 
company owing 3)/ to the risk involved. 4)/ All correct 
5)/ 
a) You should delay 
b) your plan to acquier 
c) that company owing 
d) to the risk involved. 
e) All correct 
 
6) A major 1)/ disadvantage 2)/ of this deal is that we 
shall have to bear 3)/ the cost 4)/ of training. All correct 
5)/ 
a) A major 
b) disadvantage 
c) of this deal is that we shall have to bear 
d) the cost 
e) of training. All correct 
 
7) If a country does not learn to master 1)/ these new 
realities of life, our aspirations 2)/ to ensure the 
prosperity 3)/ of our people may come to not 4)/ All 
correct 5)/ 
a) If a country does not learn to master 
b) these new realities of life, our aspirations 
c) to ensure the prosperity 
d) of our people may come to not 
e) All correct 
 
8) He is always 1)/ prompt 2)/ in caring 3)/ out 
instructions 4)/ All correct 5)/ 
a) He is always 
b) prompt 
c) in caring 
d) out instructions 
e) All correct 
 
9) The economic imperatives 1)/ for acquiring 2)/ 
technological strengths do not warrant 3)/ repeatition 
4)/ here. All Correct 5)/ 
a) The economic imperatives 
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b) for acquiring 
c) technological strengths do not warrant 
d) repeatition 
e) here. All Correct 
 
10) Although 1)/ I was paid significantly 2)/ low, I found 
my salary to be insufficient 3)/ or rather adequate. 4)/ 
All correct 5)/ 
a) Although 
b) I was paid significantly 
c) low, I found my salary to be insufficient 
d) or rather adequate. 
e) All correct 
 
11) An environmental 1)/ concern 2)/ that is likely to 
have implications 3)/ for Indian agriculture is the 
emission 4)/ of gases like methane and carbon dioxide. 
All correct 5)/ 
a) An environmental 
b) concern 
c) that is likely to have implications 
d) for Indian agriculture is the emission 
e) of gases like methane and carbon dioxide. All correct 
 
12) Corporates have benefited tremendously 1)/ from 
the government’s timely  2)/ decision to waive 3)/ 
various tax 4)/ All correct 5)/ 
a) Corporates have benefited tremendously 
b) from the government’s timely 
c) decision to waive 
d) various tax 
e) All correct 
 
13) The refusal 1)/ of the Ministry to clear pending 2)/ 
dues is a couse 3)/ for concern 4)/ All correct 5)/ 
a) The refusal 
b) of the Ministry to clear pending 
c) dues is a couse 
d) for concern 
e) All correct 
 

14)  Statistics  are  crucial  1)/  for  the  government  to 
frame 2)/ effective 3)/ policies 4)/ All correct 5)/ 
a) Statistics are crucial 
b) for the government to frame 
c) effective 
d) policies 
e) All correct 
 
15) The Finance Minister has imp ressed 1)/ 
satisfaction 2)/ over the progress 3)/ made by regional 
4)/ rural banks. All correct 5)/ 
a) The Finance Minister has imp ressed 
b) satisfaction 
c) over the progress 
d) made by regional 
e) rural banks. All correct 
 
16) To obtain 1)/ a refund you will have to fill 2)/ a claim 
3)/ with the appropriate 4)/ authority. All correct 5)/ 
a) To obtain 
b) a refund you will have to fill 
c) a claim 
d) with the appropriate 
e) authority. All correct 
 
17)  In  order  to  confront  1)/  the  threat  2)/  of  global 
warming it is imperative 3)/ that we work altogether 
4)/ All correct 5)/ 
a) In order to confront 
b) the threat 
c) of global warming it is imperative 
d) that we work altogether 
e) All correct 
 
18)  To  ensure  1)/  there  has  been  no  fraud  2)/  the 
accounts of the previous 3)/ year need to be carelessly 
4)/ examined. All correct 5)/ 
a) To ensure 
b) there has been no fraud 
c) the accounts of the previous 
d) year need to be carelessly 
e) examined. All correct 
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19)  Richa  promised  1)/  to  kleen  2)/  her  room  3)/  on 
Sunday 4)/ All correct 5)/ 
a) Richa promised 
b) to kleen 
c) her room 
d) on Sunday 
e) All correct 
 
20) The panel 1)/ is suppose 2)/ to meet tomorrow to 
sanction  3)/  the  purchase  4)/  of  new  premises.  All 
correct 5)/ 
a) The panel 
b) is suppose 
c) to meet tomorrow to sanction 
d) the purchase 
e) of new premises. All correct 
 
21) Last night the ambassador 1)/ was summoned 2)/ 
to  the  foreign  office  to  discuss  3)/  the  cricis.  4)/  All 
correct 5)/ 
a) Last night the ambassador 
b) was summoned 
c) to the foreign office to discuss 
d) the cricis. 
e) All correct 
 
22) There will be a decline 1)/ in the probability 2)/ of 
oil companies because of the hike 3)/ in oil prices 4)/ 
All correct 5)/ 
a) There will be a decline 
b) in the probability 
c) of oil companies because of the hike 
d) in oil prices 
e) All correct 
 
23) Oportunities 1)/ multiply 2)/ when they are seized 
3)/ and die 4)/ when they are not. All correct 5)/ 
a) Oportunities 
b) multiply 
c) when they are seized 
d) and die 

e) when they are not. All correct 
 
24)They pat iently 1)/ exp lained 2)/ the procedure 3)/ 
for appling 4)/ for a loan to the villagers. All correct 5)/ 
a) They pat iently 
b) exp lained 
c) the procedure 
d) for appling 
e) for a loan to the villagers. All correct 
 
25) Half of the harm 1)/ that is done in this world 2)/ is 
due to people 3)/ who want to feel important 4)/ All 
correct 5)/ 
a) Half of the harm 
b) that is done in this world 
c) is due to people 
d) who want to feel important 
e) All correct 
 
26) The act of extending 1)/ preferential 2)/ treatment 
to service  providers  was  high  3)/  appreciated. 4)/  All 
correct 5)/ 
a) The act of extending 
b) preferential 
c) treatment to service providers was high 
d) appreciated. 
e) All correct 
 
27) Every single 1)/ decision will be reveiwed 2)/ at the 
regular 3)/ monthly 4)/ meeting. All correct 5)/ 
a) Every single 
b) decision will be reveiwed 
c) at the regular 
d) monthly 
e) meeting. All correct 
 
28) Gandhiji is known 1)/ for his successful 2)/ afforts 
3)/ to liberate 4)/ India. All correct 5)/ 
a) Gandhiji is known 
b) for his successful 
c) afforts 
d) to liberate 
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e) India. All correct 
 
29)  Had  she  not suppressed  1)/  all the  details  of  her 
Company's project 2)/ her Company would have 
bagged 3)/ the contract 4)/ All correct 5)/ 
a) Had she not suppressed 
b) all the details of her Company's project 
c) her Company would have bagged 
d) the contract 
e) All correct 
 
30)  Mohan  trried  1)/  to  help  2)/  but  his  friend  3)/ 
refused to take his help 4)/ All correct 5)/ 
a) Mohan trried 
b) to help 
c) but his friend 
d) refused to take his help 
e) All correct 
 
31) The whole 1)/ time she walked with her child in her 
arms the only thing 2)/ that worried 3)/ her was her 
son's feature 4)/ All correct 5)/ 
a) The whole 
b) time she walked with her child in her arms the only 
thing 
c) that worried 
d) her was her son's feature 
e) All correct 
 
32) This firm which is based 1)/ in France is prepaired 
2)/ to finance 3)/ small Indian businesses which 
produce 4)/ environment friendly products. All correct 
5)/ 
a) This firm which is based 
b) in France is prepaired 
c) to finance 
d) small Indian businesses which produce 
e) environment friendly products. All correct 
 
33) He deserves 1)/ some recognition 2)/ for working 
diligently 3)/ for the passed 4)/ five years. All correct 
5)/ 

a) He deserves 
b) some recognition 
c) for working diligently 
d) for the passed 
e) five years. All correct 
 
34) The clever disciple 1)/ had decided to proved 2)/ his 
skills by reciting 3)/ the holy verse 4)/ from the book. 
All correct 5)/ 
a) The clever disciple 
b) had decided to proved 
c) his skills by reciting 
d) the holy verse 
e) from the book. All correct 
 
35) There was a slight 1)/ reduction 2)/ in his wait 3)/ 
after almost a week 4)/ of strict dieting. All correct 5)/ 
a) There was a slight 
b) reduction 
c) in his wait 
d) after almost a week 
e) of strict dieting. All correct 
 
36) Mahesh has taken a momentous 1)/ decision to sell 
his very profitible 2)/ business 3)/ to his biggest rival 4)/ 
All correct 5)/ 
a) Mahesh has taken a momentous 
b) decision to sell his very profitible 
c) business 
d) to his biggest rival 
e) All correct 
 
37) I have mentioned 1)/ this case to indicate 2)/ how 
deliberate  3)/  it  will  be  to  achieve  our  goal  4)/  All 
correct 5)/ 
a) I have mentioned 
b) this case to indicate 
c) how deliberate 
d) it will be to achieve our goal 
e) All correct 
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38)  The  police  stopped  1)/  him  and  asked  for  the 
lisence  2)/  which  he  unfortunately  3)/  did  not  carry 
while going 4)/ for the drive. All correct 5)/ 
a) The police stopped 
b) him and asked for the lisence 
c) which he unfortunately 
d) did not carry while going 
e) for the drive. All correct 
 
39)  As  the  wind  blue  1)/  harder  every  minute,  2)/ 
people  got  a  fairly  3)/  good  idea  that  a  storm  was 
approaching 4)/ the town. All correct 5)/ 
a) As the wind blue 
b) harder every minute, 
c) people got a fairly 
d) good idea that a storm was approaching 
e) the town. All correct 
 
40) Since you are unable 1)/ to repay the loan you have 
no  alternate  2)/  but  to  seek  3)/  an  extension  4)/  All 
correct 5)/ 
a) Since you are unable 
b) to repay the loan you have no alternate 
c) but to seek 
d) an extension 
e) All correct 
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